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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
T

400 \ Al no\ V T e v r—

S i LN ———

N EAIR| IR ‘

100

0 25 50 5 100 125 150 175
d
30.0 : W\ — T .
27.5 ! ("~ N—\v ——  Topt |
25 0 : I \’\\/\'\ -
' I 7NN
A | AN "~
~7L‘ | L—W—kﬁ—v—/‘, =
20.0 Y I~ [ vy :
1
AN LAY
W :
15.0 :
1
125 0 25 50 75 100 125 150 175
d
80 | —
———  RHo
70 | : "
BRIV
60 A A/ /i \
AV IR A
1
/\ A I
50 V—V 1
\ /\I ‘M i
40
vV !
0 25 50 75 100 125 150 175
d
2500 :
——  ETel
2000 [\/\/\./\A/\A - optETcl

500 w

g s

2.0 /
1.5

1.0 /
0.5

T
3.0 1 LAT
/ \

1
2.5 ~ 1

1

1

|

|

|

|

1

1

|

I

|

|

1

1

5 100 125 150 175

|
n A —— optEtRate

JM\J \ A N

NI

0.4 !

—:'__,
-

5 100 125 150 175



Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-14 0
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P3-14

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS ERE

06:30 283 150.0 2.888 BE| FHA@06:30 KREFEF (REMEEE)
07:10 283 150.0 2.888 BE|  FiHAe07:10 REFEF (REAEHE)
08:20 283 150.0 2. 888 FA| FnHAe08:20 Kk4NF2F (KRFfEREE)
09:15 283 150.0 2. 888 FA| FHA@09:15 ARHIEF (KAEZESD)
10:00 283 150.0 2. 888 FA| HA@10:00 KEFEF (KRR
10:40 283 150.0 2.888 FA| FiHA@10:40 KRHEF CRAZRS)
11:15 283 150.0 2. 888 FH| FhHA@11:15 REIEF (RATREES)
11:50 283 150.0 2. 888 FA| FHR@11:50 RHEF (RKRAEZRSD)
12:25 283 150.0 2. 888 FH| FnHRpe12:25 Kk4#112F (KREEREE)
13:00 283 150.0 2.888 FH| FhHA@13:00 KRENFEF (RATRELEE)
13:35 283 150.0 2.888 FA| FiHR@13:35 KRHIEF (KAL)
14:10 283 150.0 2. 888 FH| FiHRe14:10 kEIEF (REERSE)
14:45 283 150.0 2.888 FH| FhHA@14:45 KENFEF (RATRESE)
15:25 283 150.0 2.888 FA| TiHR@15:25 KRHEF (KRAEZRS)
16:10 283 150.0 2. 888 FH| FnHRe16:10 KEF2F (REEREE)
17:10 283 150.0 2.888 FH| FhHEA@17:10 KRENFEF (RAATREEE)
23t 4528.0 (16)%) 2400. 0 3233 %EC: 2080.0, PH: 5.9

FEIKRECE (1773.0 vs 3587.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-14_0, Day=66 (2025-06-05)
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P3-14

BriE) | GEBERTC (FD) | EME (EH/AR) | ERERE (B/R) (KR IR

06:50 288 150.0 2.888 BS| 1Ri%e06:50 Bz (RF{REEE)
07:35 288 150. 0 2.888 | RE| 1Rige07:35 Hzh CGRAEESE)
08:40 288 150. 0 2.888 | M5| {Ri%e08:40 Hzh (KAEEHSE)
09:35 288 150.0 2.888 BS| 1Ri%e09:35 Bz (GRE{EEESE)
10:20 288 150. 0 2.888 | H5| 1Ri&@10:20 Hzh (KAL)
11:05 288 150. 0 2.888 | RE| {Rige11:05 Bzh CGREAEESE)
11:50 288 150.0 2.888 S| 1Rige11:50 Bz (GGREEEEE)
12:35 288 150. 0 2.888 | H5| 1Rige12:35 Hzh (RAERR)
13:20 288 150. 0 2.888 | RE| {Rige13:20 Bzh CGREAEESE)
14:00 288 150.0 2.888 RS {Rige14:00 Bz CGREAEESE)
14:35 288 150.0 2.888 BS| 1Ri%e14:35 Bz (GGREMEESE)
15:10 288 150. 0 2.888 | RKE| (Rige15:10 Hzh CGRAKESE)
15:45 288 150.0 2.888 BS| 1Ri%e15:45 B GREEESE)
16:40 288 150.0 2.888 BS| 1Ri%e16:40 Bz (GGREMEESE)
21t 4032.0 (14)%) 2100.0 32#%KEC: 2080.0, PH: 5.8

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
HERECE (1780. 0 vs 3447.0) i H 5



FRV (ml plant-1)
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P3-14_0, Day=65 (2025-06—04)
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34 -

33 A

—— MW

4;0 4;5
m=615,n FV0=0

42 -

41

40 -

39 A

38

—— MW

650 6&5
m=745,n FV0=0

42 -

41 -

40 -

39 -

38 -

—— MW

750 765
m=885,n FV0=0

745

42 -

41 -

40 4

39 A

- MW

885 890 895




m=920, FV0=0

—— MW
42
41
40 -
39
38_ T T T
920 925 930

m=955, FVO0=0
—— MW

42 -
41 -
40 -
39 -

T T T

955 960 965

m=990, FV0=0

43 -
—o— MW

42
41
40 -

T T T

990 995 1000

m=1035, FV0=0
43 ——
42
41
40 -
T T T
1035 1040 1045
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140 -

145

:20
110
)
:40
:20
:05
:50
:35
:30

100
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- 60

- 40
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P3-14

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

07:45 300 150.0 2. 888 RS {Ri8e07:45 Fzy (REERSE)
08:25 300 150.0 2.888 BE| {Ri&e08:25 Fx (REAEEE)
09:30 300 150.0 2.888 RS {Ri%@09:30 Fz (REAEHE)
10:20 300 150.0 2. 888 e Ri8@10:20 Fzn (REAEHSE)
11:10 300 150.0 2.888 Bl Rige11:10 Fzi (REEHE)
11:55 300 150.0 2.888 e Rige11:55 Fzf (REEHE)
12:40 300 150.0 2.888 B Rige12:40 Fzy (REAERE)
13:20 300 150.0 2. 888 Bl Rige13:20 Fz (REEEE)
14:05 300 150.0 2.888 S| Rige14:05 Fz (REAEHE)
14:50 300 150.0 2.888 BS| 1Ri%e14:50 Fzh GGREEERSE)
15:35 300 150.0 2.888 RS Ri%e15:35 Fzi (KREAERSR)
16:30 300 150.0 2.888 BE| Rige16:30 Fz (REAEHE)
=23t 3600.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

FERECE (1860. 0 vs 3461.0) 145

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=64 (2025-06-03)

150- ------------------------------------------------------------------------------------- ._3000
VI, VO/3RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2300 2218
100 + 1800 809 I 2000
419 571
50 -
20 1000
Warning: lcol [FVI',| "FVO’'] missing 140
0 1 -
(I — ME By
200 A
100 +
1.0
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 N
300 - By|nit:@D66 01:57: ET=1293 Fg=1500.0 Ro=218.0 t
- 2000
200 ~
- 1000
100
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
S A A A LA A A A A A A A A A A A A A A A A
- 2000
ByEt @D64 19:05: ET=1560 Fg=1809. 0 Ro=nan &
200 A 1
1
1 |
100 / ‘\K : 1000
1
0 :==:l::iE=¥—~—=L—*-i‘———ir———i ‘I \\\\\1“‘_k\\\\\______—_—— 0
10 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
N A AL A LA A A A A A A A A A A A A A A R A A
1 - 2000
ByWOFv:@DGG 01:57: ET=1571 Fg=1800.0 Ro=372.0
200 ~
|
|
I - 1000
100 - I
|
|
L:::A::;d£~‘—=;—*-i
1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
P 0 0 0 0 0 0 0 0 0 0 M N
0.6 -
0.4 1
0.2 A
0.0
—_— 4

| _obs
—@— PPFD obs

RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



38.

38.

38.

37.

37.

37.

39.

39.

38.

38.

38.

38.

37.

39.

39.

39.

38.

38.

38.

400

T T
600 800

m=605,m FV0=0

50 A

25 -

00 ~

75

50 -

25 A

——

6%0 6%5
m=780,n FV0=0

25 A

00 -

75 -

50 A

25 -

00 ~

75 -

780

7é5 760
m=975,n FV0=0

50 -

25 -

00 ~

75 -

50 A

25 A

—o—

975

980 985

m=440, FV0=0

37.0 A

36. 5

36. 0

35.5 -

38.

38.

38.

38.

37.

37.

37.

39.

39.

38.

38.

38.

38.

37.

T T
445 450

m=650,m FV0=0

75 1

50 -

25

00 -

75 -

50

25 -

T T
655 660

m=830,m FV0=0

25

00 -

75 -

50

25 H

00 -

75 -

835 840

42

40 -

38 -

36

34 -

400

600 800

m=485, FV0=0
——
38.0
37.5
37.0
T T T
485 490 495
m=695,m FV0=0
38.75 1 —@—
38.50
38. 25
38. 00
37.75
37.50
T T T
695 700 705
m=875,m FV0=0
39.51 _q
39.0
38.5
38.0
875 880 885
m=440,m FV0=0
40 A
—.—
38 -
36 -
34 -
440 445 450

m=550, FV0=0
- ME
38.5 -
38.0 -
37.5
T T T
550 555 560
m=735,m FV0=0
39.001 o g
38.75
38. 50 -
38. 25
38. 00 -
37.75 -
37. 50 -
T T T
735 740 745
m=930,m FV0=0
—o— ME
39.0 -
38.5 -
38.0 -
930 935 940
m=485,m FV0=0
—— MW
42 -
40 -
38 -
485 490 495




m=530, FV0=0

42 -

41 -

40 -

39 A

38

37 A

36

—o—

M_W

550

T T
555 560

m=735,m FV0=0

41 -

40 -

39

38

37 A

36

—— MW

735

T T
740 745

m=930,m FV0=0

41 -

40 -

39 A

38

37 A

36

—0—

M_W

930

935 940

m=605, FV0=0

41

40 -

39 -

38 A

37 A

36

—— MW

605

T T
610 615

m=780,m FV0=0

41

40 -

39 -

38 A

37 A

36

—— MW

780

T T
785 790

m=975,m FV0=0

42

41 -

40 -

39 A

38 A

37 A

—o— MW

975

980 985

m=690, FV0=0

41 -

40 -

39 -

38 -

37 A

36

—— MW

650

655 6é0
m=830,n FV0=0

41 4

40 -

39 -

38

37 A

36

—— MW

830

835 840

m=695, FV0=0

41

40 -

39 -

38 -

37 A

36

—0—

M_w

695

T T
700 705

m=875,m FV0=0

41

40 -

39 -

38 A

37 A

36

—0—

M_W

875

880 885
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P3-14

RfiE) [ EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

07:50 288 150.0 2. 888 RS {Ri&@07:50 Fz (REERHE)
08:30 288 150.0 2.888 A5 {Ri%@08:30 Fzf (KRFFEEE)
09:30 288 150.0 2.888 RS {RRi8&e09:30 Fz (REAEHE)
10:20 288 150.0 2.888 RS Ri8@10:20 Fzy (REEHE)
11:15 288 150.0 2.888 S| Rige11:15 Fzi (REERSR)
12:15 288 150.0 2.888 B Rige12:15 Fzh (REAERSE)
12:55 288 150.0 2.888 S| Rige12:55 Fz (REAEHE)
13:30 288 150.0 2.888 |Z=| {Ri&e13:30 Fz (KEAEZHE)
14:05 288 150.0 2.888 [Z=| 1Rige14:05 Fzh (REEESER)
14:40 288 150.0 2.888 |Z=| {Rige14:40 Fz1 (KREEZHE)
15:20 288 150.0 2.888 |Z=| {Ri&e15:20 Fz1 (KEEZEHE)
16:05 288 150.0 2.888 [Z=| 1BRige16:05 Fzh (REEESE)
17:15 288 150.0 2.888 |Z=| {Ri&e17:15 Fz1 (REZEHE)
2it|3744.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.7

TERRHLER 2 STEEARTF (195.0 :

ZRIAEBRIERE159. 0 ml.

HEEHECE (1907.0 vs 3783.0) 5

159.0), FAlEEHT—@ L XA HS




P3-14_0, Day=63 (2025-06—02)

150- ------------------------------------------------------------------------------------- ._3000
VI, VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 2106
2300 213
100 + L
600 2000
935
50 L
770 604 20 1000
00 Warning: lcol [FVI',| "FVO’'] missing
0 + - 02
_ ( mm v — ME P
T 200 4 - 40
+
C
R SR ENUNRIVEIVEIRY SO SUNIPUPUIPIRDY SRR - - I H S I ¢ | Hh W (N N A, U S ' N N S SO SR
o - 38 =
E 100
= - 36
o
1.0 34
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.7 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 i
: . . — — —_ 4 3000
5 300 4 Bylnit @DGG 01:58: ET=1165 Fg=1200.0 Ro=161.0
:
~ 1 - 2000
200 A i
= ' 88
- 1
= 100 - : _— - 1000
i I .-
O_E;Z;’I _ki;, N 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 2000
S 300 4 R ERERAREA EREEEAES i g g i 5 5 5 i 5 5 5 5 i 5 g fg 5
c 1
%_ ByEt @D63 19:21: ET=1465 Fg=2213. 0 Ro=nan @ © i & e & © [ 2000
= 200 - 1 e & —©
< 1
- 1
£
E 1
S
] 1 | —
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -2000
S 300 EHEREAREA EEREREA R g g i 5 EEREREREREEEEARS BB || B i 5
c 1
%_ ByWoFv EDGG 01:58: ET=1600 Fg=1950.0 Ro=422.0 ° | ° | 9000
=200 - I —2
S :
£
o I
1.0 21122 [ 23 [°
E3 ES ES
0. 8 B B B
0.6 -
0.4 1
0.2 A
2808 3 —_ 4
| _obs
PPFD_obs

RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



38.

38.

37.

37.

37.

37.

36.

40.

40.

39.

39.

38.

38.

40.

40.

39.

39.

38.

41

40 -

39 A

38 A

37 A

36

M_E

T T T T
700 800 900 1000

m=665,m FV0=0

T
600

25 A

00 ~

75 -

50 A

25 -

00 A

75

—o— M_E

m

6;0 6%5
m=785,n FV0=0

785 790 795

m=900,m FV0=0

5

-—o— M_E

i

900 905 910

36.

36.

36.

35.

35.

35.

38.

38.

37.

37.

37.

40.

40.

39.

40.

40.

40.

40.

m=530, FV0=0

41T —e— M_E
2_
0_
8_
6_
4_
550 5%5 560
m=670,m FV0=0
27 —o— ME
0_
8_
6_
4_
670 675 680
m=790,m FV0=0
—o— ME
5_
0_
5_
760 765 860
m=910,m FV0=0
—o— ME
8_
6_
4_
2_

910 915 920

37.

37.

36.

36.

36.

36.

41.

40.

40.

39.

39.

38.

41.

40.

40.

39.

39.

40

m=580, FV0=0
27 —o— M_E
0 -
8 -
6 .
4 -
2 -
5éo 5é5 5§o
m=725,m FV0=0
1 —e— ME
39 -
38 -
37 -
755 750 755
m=845,m FV0=0
0 -
—e— ME
5 -
0 .
5 -
O -
5 -
855 860 855
m=965,m FV0=0
07 —o— M_E
5 -
O -
5 -
0 -

970 975

m=625, FV0=0

37.

37.

37.

36.

36.

36.

36.

M_E

650 Gé5
m=730,n FV0=0

40.

39.

39.

38.

38.

7é5 7&0
m=850,n FV0=0

40. 75 A

40. 50 ~

40. 25 A

40. 00 A

39. 75 A

39. 50 A

—o— M_E

iy

855 8é0
m=970,n FV0=0

850

41.0 A

40. 8 -

40.6 -

40. 4

40. 2 A

-o— M_E

“

970 975 980




42.5

40.0

37.5 A

35.0

32.5 -

30. 0 -

T T T T
700 800 900 1000

m=665,m FV0=0

600

38 A

36

34

32 A

—— MW

=

6%0 6;5
m=785,n FV0=0

42

40 ~

38 A

36

750 7é5
m=900,n FV0=0

785

42

40 -

38 A

36 -

- MW

i
i
i

900 905 910

38.

37.

37.

36.

36.

35.

43.

42.

42.

41.

41.

40.

43.

42.

42.

41.

41.

40.

m=530, FV0=0

33 -

32 -

31 -

30 A

—— MW

5%5 5é0
m=670,n FV0=0

T
550

—— MW

A
i

6%5 GéO
m=790,n FV0=0

—— MW

7é5 860
m=910,n FV0=0

790

-— MW

910 915 920

m=580, FV0=0

36

35 A

34

33 -

32 -

31

—— MW

T T
580 585 590

m=725,m FV0=0

42 -

40 -

38 -

36

34

—0— MW

T T
730 735

725
m=845,m FV0=0
—— MW
42 -
40 -
38 -
36 -
845 850 855
m=965,m FV0=0

42 -

40 -

38 -

—— MW

965 970 975

43.

42.

42.

41.

41.

40.

43.

43.

42.

42.

41.

41.

m=625, FV0=0

36

35

34 A

33 A

32 -

31 -

—— MW

650 655
m=730,m FV0=0

42 ~

41 -

40 -

39 A

—— MW

755 7AO
m=850,n FV0=0

5 4

—o— MW

Jiie

855 860
m=970,n FV0=0

850

- MW

=

970 975 980




hour

:55

:55

:20

:50

:20

100




P3-14

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF

08:55 288 150.0 2.888 Z| {Ri%e08:55 Bz (KREAEHE)
09:55 288 150.0 2.888 |Z=| {Ri%e09:55 Bz (KREEHSE)
10:55 288 150.0 2.888 [Z=| 1Ri%e10:55 Bzh (REEESE)
11:55 288 150.0 2.888 PH| {Rig@11:55 Bz CGRAERSE)
13:20 288 150.0 2. 888 FB| {Ri&@13:20 B (FRAFERSE)
14:50 288 150.0 2.888 FA| {Ri&e14:50 Bz CGRAEEEE)
16:20 288 150.0 2.888 FA| {Ri&@16:20 Bz (GRAERE)
23t]2016.0 (70%) 1050. 0 32 HKEC: 2080.0, PH: 5.6

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
#[ERECZE (2007. 0 vs 4367.0) iH 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=62 (2025-06—01)

LR S e i it S
VI, VO*¥RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET L 1500
1200
100
00 935 L
770 pregee[ 100
50 1 %0 00 - 500

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0 i 3000
Bylnit @DGG 01:58: ET=1730 Fg=1950. 0 Ro=416.0

400 -
300 | B 2000
200 -

- 1000
100

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 F 8000

g001/Fa| BA | R | F | B | BH [ BA [ BA [ BA [ BA | BA | BA | BA | BH | F | BH | F8 | BH [ BA [ BA [ BA [ BA | BA | FA
300 - - 2000
200 -

- 1000
100 A

s—
7 8 9 10 | 11 12 [ 13 [ 141516 ] 17 | 18 | 19 | 20 | 21 22 | 23 F 9000
o0l BB | A | Xm|dm| T [ F | Z [ ZF | Z=(z=z| W [ B | B [ B [ BB |[BA|B[IHA|H[Z=|Z=[Z2=

[
ByWoFv 1@D66 01:58: ET=826 Fg=1050.0 Ro=195.0 - 2000

300

200 -

1

1

1

: o—@ —g‘:‘:‘ L 1000
100 A i
1.0 a a o ‘r I F¥v§ 0

0.6

0.4+

0.2~

0.0

—_— 4
[ ] | _obs
—@— PPFD obs

80

70

— RH
"1 o Rioos w
(] RHo_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



40.

39.

39.

39.

39.

38.

40 -

39 A

38 A

37 A

—O—

M_E

T
600

760 860
m=855,n FV0=0

T
900

T
1000

4 —&=

M_E

T
855

860
m=625,n FV0=0

T
865

43 A

42

41

40 -

39 -

38 -

——

M_W

625

630

635

38.5 -

38.0 -

37.5 -

37.0 -

40.

40.

39.

39.

39.

39.

38.

m=580, FV0=0

—o—

M_E

T
580

5é5
m=950,n FV0=0

T
590

25 4

00 -

75 -

50

25 -

00 A

75 A

—o—

M_E

950

955
m=755,n FV0=0

T
960

43 -

42 -

41 -

40 ~

39 A

38 A

—— MW

755

760

765

39.

39.

39.

39.

38.

38.

m=625, FV0=0

——

M_E

625

630

635

44

42

40 -

38 -

36

-o— MW

600

760 860
m=855,n FV0=0

T
900 1000

43 A

42

41

40 -

39 A

—— MW

855

860

865

m=753, FV0=0

40.0

39.5 A

39.0 A

38.5 -

—o—

M_E

755

760
m=580,n FV0=0

T
765

39 A

38

37 A

36

—o—

M_W

35

580

5é5
m=950,n FV0=0

T
590

44 -

43 -

42

41 -

40 -

39 A

—0— MW

950

955

960




